[bookmark: _GoBack]


image1.jpeg
10 4

100 120 140 160 180

t (min)

80

40

20




image2.jpeg
10 A

0 T T T T T T T T

| 0 20 40 60 80 100 120 140 160 180

t (min)




image3.jpeg
DSA (ngL")

100

80 4

60 -

40

20 4

20

40

60

T T

80 100

t (min)

T
120

140

T
160

180





image4.jpeg
10 4

100 120 140 160 180

t (min)

80

40

20




image5.jpeg
10 A

0 T T T T T T T T

| 0 20 40 60 80 100 120 140 160 180

t (min)




image6.jpeg
DSA (ngL")

100

80 4

60 -

40

20 4

20

40

60

T T

80 100

t (min)

T
120

140

T
160

180






 


 


 




 

 

 

